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M30-3 Tolerances Assignment

{MathWorks 12 Workbook pg. 102-104)
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Complete the following table.
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Munira is making custom kitchen cabinets. The front face of a drawer must have a

’ cen 17 137 17 and aheight b 157 A7
width between 17 = and 18 T and a height between 6 = and 7 R

a) What are the nominal dimensions of the drawer face?

Nomind 4 = 187 nomnel hetht = 7"

by What is the tolerance in the measurements?
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¢} Write the width and height in the form nominal value £ %—(toierancal
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3. A chemical mixture in a manufacturing process needs to reach a nominal
temperature of 10.0°C, with a tolerance of 0.5°C. o.0°C £ 0.35°C

a) What are the minimum and maximum acceptable temperatures? Write them in

) i mmximun value
Ehﬁ fm‘m rairdn vdoe

miCont = 10.0°C + 0.35%C minmem = J0.0°C - 0.25°¢

- 9.75°C

v

b) Write the temperature in the form nominal value £ -;- {tolerance).

L’O,'Oli 0'3‘5“’1

4. A medication specifies that it contains 0.0406 mg =+ 0.0001 mg of a specified drug,

Calculate the tolerance and the maximum and minimum quantities of the drug
present in the medication.

mox = O.0Y08mm + OHu0l ma miq = OOW0bwy ~ 0,000\ g
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Junichi is tiling a rool. The building code specifies that roof tile may have an
overhang of a maximum of 64 mm and a minimum of 35 mm.

a) Calculate the nominal overhang for a roof tile.

Nomin] we(kmd z M

6] = ‘/?, Smm

b} Express the tolerancein the form nominal value & -i; (tolerance)

e = L ~ 2 Epman Vg 4 l(}‘i \
= 3% mm o

= V?.Smm .“" ]ngm




